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Two dice

Correct response

Additional guidance

1

Gives the value 1 o equivalent probabiliy,

and gives a correct justification

‘The most common correct justfications:

Use a systematic approach to illustrate all
outcomes, cither numerically or as even or odd
e

2
3
4
s

2
3
4
s

Use separate probabiltis for cach dice which
are then multiplied

% 42
= i

& 1 dice all even so probabiliy s 1, 2 dice

two even so probability s 0.5, 1 % 0.5

Reason generally
™
= You are always adding an even from one
dice. Half the time you add to another even
which gives an even, half the time you add
0 an odd which gives an odd

Gives a correct probability withou suffcient
justification or with a non-systematic approach

Uses a systematic approach to show at least 12
correct outcomes with not more than one
incorrect, even f an incorrect or no probability
is given

 Minimally acceptable justification
@,

W

©342,344,346348
542,54+4,5+6,5+8
(0dd outcomes only)

*2,2 2,4 6 , 8
42 4,4 L6 .8
(even outcomes only implied)

! Reversals included to give 32 outcomes
Accept as a correct method

¥ Minimally acceptable justification
@
* Using the 3 gives 4 odd numbers
Using the 5 gives 4 odd numbers,
and the other 8 must be even
en + even = even, even + odd = 0dd
same amount of each

 Incorrect, spurious or no justfication
L
©242:4,44327,
6+4210,8+5

i

with no further working
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::::;: Sweet peas

22)14] Correct response Additional guidance
ala|1m]| £ or cquivalent probability 1 Unconventional notation, but equivalent
100 .
value
eg, for the first mark
7/
20
1m| 1Z or equivalent probability Condone

20

Estimates transposed but othenwise correct
Mark as 0, 1

b [b| 1m| Indicates Ravi and gives a correct explanation |  Minimally acceptable explanation

that states or implies that he used more seeds e
e * More seeds
 The more trials you have the more accurate * More packets
your estimate of probability is likely to be * He tested more
= The number of seeds in each packet was the [+ He had 200, not 100

same but Ravi had more packets than Meg
50 he had a greater number of trials
u There were more secds to consider
= 200 seeds is more than 100 seeds ! Irrelevant statement
L
* Ravi’s results were more accurate
 He had more chance of a bigger number
germinating
Ignore alongside a correct response,
otherwise do not accept

Ravi had 10, Meg had 5

x Incomplete, ambiguous or incorrect

explanation

s

* More

* A bigger number

* Ravi's = 278 which is more than 52
Remi} = g e than 155

More of his sceds germinated
He had 5 more sceds

Meg’s numbers were more complicated
and harder to work out
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i & Question
b = Counters
20| Correct response ‘Additional guidance
a 1m | Lor equivalent probability ! Value rounded
3 Accept 0.33 or better, or the percentage
equivalents
b m| 3
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Hands

Correct response

Additional guidance

L or cquivalent probabilicy

! Value rounded or truncated
Accept 0.46(...) or 0.47 or the percentage
equivalents
Do not accept 0.5 unless a correct method or
2 more accurate value is seen

1
L or equivalent probabili
1 °F eat t pr ty

Follow through

Accept follow through from an incorrect
total number of pupils seen in part (a),
provided their total is not 4, 16 or 27

from 14
eg. from 33 for part (a) accepe

2

% or equivalent probability

Value rounded
Accept 0.66(...) or 0.67 or the percentage
equivalents
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rier & Question

ls-sJace]s

Spinning

22[14] 6

Correct response

Additional guidance

2m | 0.15 or equivalent probability

1m | Shows or implies the intention to add the given
probabilities, subtract the sum from 1 and then

divide by 2, even if there are errors
s
= 0.1406=07
1-07

. 0332

x For 2m, incorrect notation
ez

.o.
.o.
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Hands

Correct response

Additional guidance

1m

s

or equivalent probability

Value rounded or truncated
Accept 0.46(...) or 0.47 or the percentage
equivalents

Do not accept 0.5 unless a correct method o
a more accurate value is seen

1m

0

or equivalent probability

Follow through
Accept follow through from an incorrect
total number of pupils seen in part (a),
provided their total is not 4, 16 or 27

eg, from % for part (a) accept.

o3
kg

1m

% or equivalent probability

Value rounded
Accept 0.66(...) or 0.67 or the percentage
equivalents
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Spinning

Additional guidance

2m | 0.15 or equivalent probability

Shows or implies the intention to add the given
probabilites, subtract the sum from 1 and then
divide by 2, even if there are errors

E3
. 01406207
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Correct response

1
4 or cquivalent probabiliy

equivalent probabiliry

t Probability rounded
Accept 0.33 or bette
cquivalents

percentage

0.3 or equivalent probal
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Indicates the coin is not biased (g ‘Not biased”
or Noj)

and

gives a correct ustification

£

= Of the 200 tials, 110 are heads
1o
1o w055
0.5 <0.56
0.56 %200« 112
125> 110
‘The mean number of heads is 11
20%0.56 = 112,11 < 1.2
0434141424241 14041210,
104200 = 5%, s0.it's 55% which is less
than 56%

Shows a correct estimate of probabilty based
on all 200 results, even i it is written
unconventionally, but makes an incorrect or
no decision

055
55(%)

10

200

n

w0

110 out of 200

Shows the values 110 and 112, or 11 and 11.2,
but makes an incorrect of no decision

or

Shows or implies a correct mehod with not
more than one computational error, then
follows through to make their correct decision
o

5465455455455 0 not biased

104134 1140 11 = 114 (erron),

1

158> 0.56 so biased

. 55%
Lo
b

- 110,112
ERTNTE

Response asumes the pupil has already
concluded the coinis biased
Condone
for 2m accepe
% 55%, 50 het conchuion is weoog

Irvelevant information

@

* 7 of the 10 sets of results were less
than 11.2

Ignore if accompanying a correct response,
otherwise do not accept

For 2m, incomplete or incorrect ustification

B
* They add up t0 110

+ The mean i 11
+0.56x20=112

* Median = 11 and 11 < 112
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Field voles

Correct response

‘Additional guidance

Gives a value between 0,65 and 0.68 inclusive
or cquivalent probability

60 10.66)

* 000

Gives a valoe berween 0.5 and 061 inclusive or

cquivalent peobabiley

AT
350

150
o 50 st

[05517...)

160 1053331
e





image17.jpg
Additional guidance

2m | Indicates the coin is not biased (eg “Not biased
or 'Na')
and
Bives a correct justification
e
 Of the 200 trials, 110 are heads
10
200
0.5 <0.56
056200 = 112
1125110
 The mean number of heads is 11
20%0.56 = 1.2, 11 < 11.2
@ 0434141424241 -1404
104200 = 5%, 50 ic’s 55% which is less
than 56%

=055

or
1m | Shows a correct estimate of probabiliy based
on all 200 resuls, even if it s written
unconventionally, but makes an incorrect or
no decision
. 055
o 550%)
110
200
n
b
= 110 out of 200

or

Shows the values 110 and 112, or 11 and 11.2,
but makes an incorrect or no decision

Shows or implies a correct method with not
more than one computational error, then
follows through to make their correct decision
e
" 54654554554
@ 104134104 a 11 = 114 (error),

14
5 > 0.56 5o biased

=10,

4 5.5 50 not biased

/ Minimally acceptable justification
€8
. s5%
10

* 200
- 110,112
e 112

Response assumes the pupil has already
concluded the coin is biased
Condone
eg, for 2m accept
* 55%, 50 her conclusion is wrong

Irrelevant information
e
+ 7 of the 10 sets of results were less
than 11.2
Tgnore if accompanying a correct response,
otherwise do no accept

x For 2m, incomplete or incorrect justification
e
* They add up t0 110
* The mean is 11
*056x20=112
* Median = 11and 11 < 11.2
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Field voles

Correct response

‘Additional guidance

Gives a value between 0,65 and 0.68 inclusive
or equivalent probabiliry

&
660
o o 10.66]

Gives a value between 0.5 and 0.61 inclusive or
equivalent probability
10

150
10 s,
160
300

10.5517...

10.5333..
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Three dice

Correct response

Additional guidance

1
35 or equivalent probabilicy

Shows or implies  complete correct method,
even if values are rounded or truncated

Shows or implies a correct method to find the
total number of possible outcomes

e
. 216
. 6x6x6

- (&

Shows a correct method that uses explicidly the
fact that, in this case, the outcome of one dice
is irrelevant
3
It doesn't matter what you throw on the
first dice, but the other two dice must

match it, 50 i’ + then +

1 For 2m or 1m, values rounded or truncated
For 2m, accept 0.03, 0.028 or 0.027...), or
the percentage equivalents
For 2m, do not accept 0.02 unless a correct
‘method or 2 more accurate value is seen

For 1m, accept 0.17 or 0.16(...) for % or

the percentage equivalents
For 1m, do not accept 0.2 for % unless a

‘more accurate value is seen
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Sweets

 Unambiguous indication of color

.G
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Counter probabilities

in the correct posiions,ie
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Coins

Correct response

‘Additional guidance

Gives the correct set of eight coins, ic
2p, 2, 29, 5p, 10p

in any order

19, 1p,2

Shows the set of four coins 1p, 2p, 2p, 20p.

Shows evidence of understanding that the total
number of coins must be 41 and the number of
1p coins must be x, where x # 1
-

= 1p, 1p, 29, 2p, 2, 5p, 5p. 10p

It could be three 1p coins and twelve coins

altogether
 For every four coins there is one 1p and three
that are not 1p

x For 1m, mumber of coins is not a multiple
of 4, even if total value is 25p

]
* 1. 1p, 2p, 2p, 2p, 2p, 5p, Sp, Sp
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Spinners

Correct response

Additional guidance

m

Indicates B

m

Indicates A and D, in either order
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Tie 8 Question

Vowels

Correct response

Additional guidance

m

b [2m

or
m

0.61 or cquivalent probabiliy

Shows the digits 61
o

Shows the value 0.39 or equivalent probabilicy
or

Shows or implies a complete correct method with
not more than one computational error

e
® 1-(0.08+0.13 40,07+ 0.08 + 0.03)

® 0.08+0.13+0.07 +0.08 + 0,03 = 0.3
(error)
1-038=0.62
0.000936 or 9.36 x 10, or equivalent

probability

Shows the digits 936

Shows or implies a complete correct method with
not more than one computational error
ty

® 0.13 % 0,08 x0.09

» 9Ax10"

x For2m, 9.36™
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Tir & Question

|

Which pupil?

Correct response

Additional guidance

Indicates Class 9A and gives a correct
justification

‘The most common correct justifications:

Use the proportions of boys in each class, in a
form that enables comparison
@
B_169, 12168
® 38736 ™ % e
338 336
= You ger 38 ana 336

a5k 2
- B-0des) 2

A61(...) (or 0.462)

= Agives 46.4% and B gives 46.2%
w284 13=2.15(.)
26+12=2.16(..) (or 2.17)
1B_1207(.)
87 26
o 121290
2728
. Bx(12414)
12x(15+13) = 336

Use the ratios of boys to girls or girls to boys in
each class, in a form that enables comparison
B

= 9Ais 0.86(...) boys for every girl,

= 9Ais 0.87 boys for every girl,
9B1is 0.86

15(..)
1.16(..) (or 1: 1.17)

Reason generally about the differences between
the numbers of boys and girls
@
A difference of 2 out of the bigger total in
9A s less than out of the smaller total in 9B
a2l
8%

' For 2m, minimally acceptable justification
@
169 168
* 364364
0.464(...,0461(... (or 0.462)
464,462

13
“px26s12

x For 2m, incomplete or incorrect justification
@
LB,
7%
CB3s12

« For 2m, minimally acceptable justification

e
* 0.86(.., 0.85(...)

+ 087,086

* 115(.0), 116(..) (or 117)

' For 2m, minimally acceptable justification
t
+ There are two fewer boys than girls in
both, but 9A is bigger
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Which pupil? (cont)

Correct response Additional guidance

Shows a correct justification but makes an
incorrect or no decision
8

o Boos 2

=046 50 equal

Shows a correct justification with not more than
‘one computational error then makes the correct
decision for their values

B

338338 (erron), 9B indicaned
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Counter probabilities

Correct response

Additional guidance

2m

‘Completes the table with the three correct values
in the correct positions, ie

Colour of | Number of
counters counters T
2
- b 5
Blue 3
2
Green z

 Equivalent probabilities

x Incorrect notation

1m | Gives at least one correct value in the correct
o position
tm | Indicates that the probability has decreased, ie
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Coins

Correct response ‘Additional guidance

Gives the correct set of eight coins, ic
19, 19, 2p, 2p, 29, 2p. 5p. 10p
in any order

Shows the set of four coins 1p, 2p, 2p, 20p.

Shows evidence of understanding that the total | % For 1m, mumber of coins is not a multiple

number of coins must be 4x and the number of of 4, even if total value is 25p

1p coins must be x, where x = 1 @

4 + 1p. 1p, 2p. 2p, 2p, 2p, 5p, Sp, 5p

= 1p, 1p. 29, 2p, 2p, 5p. 5p. 10p

= It could be three 1p coins and twelve coins
aktogether

= For every four coins there is one 1p and three
that are not 1p
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Vowels

Correct response ‘Additional guidance

061 or equivalent probability

Shows the digits 61

or

Shows the value 0.39 or cquivalent probabilty
or

Shows or implies a complete correct method with
not more than one computational error
8
® 1-(0.08+0.13 4007+ 0.08 +0.03)
® 0.08+0.13 4007+ 0.08 + 0,03 = 0.38
(erron)
1-038=0.62

0.000936 or 9.36 x 10°, or equivalent
probability

x For2m, 9.36™

Shows the digits 936

Shows or implies a complete correct method with
not more than one computational error
e

® 0.13 % 0,08 x0.09

» 94x10"
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Tir 8 Queston

Which pupil?
[sfaels

2716 Correct response Additional guidance

2m| Indicates Class 9A and gives a correct
justification

‘The most common correct justifications:

Use the proportions of boys in each class,ina | ¥ For 2m, minimally acceptable justification

form that enables comparison ™
@ 169 168
W13 169, 12 168 * 364364
387364 3 " Sea + 0464(...), 0461(... (or 0.462)
8 3% « 464,462
= Youger gand 332 it
13 12, - b N
"% ).464(.. VR’O%N..H 0.462)
A gives 46.4% and B gives 46.2% R B et i
" 28+13=215(.) P o
264122 2.16(.) (or 2:17) 1312
B, 1 “ %%
13>12
121290
%" 3
. 13x(12+14)=338,
12x(15+ 13) 2 336

Use the ratios of boys to gils or girls to boysin | ¥ For 2m, minimally acceptable justification

each class,in a form that enables comparison g
e - 0.36(...), 0.85(
= 9Ais 0.86(...) boys for every girl, - 087,086
9Bis 0.85(..) * 115(..), L16(..) (or 117)
u 9Ais 0.87 boys for every girl,
9Bis 0.86
. 115(..)

12
13
s
13
s
182 180
210210

1.16(...) (or 1: 1.17)

Reason generally about the differences between | ¥ For 2m, minimally acceptable justification

the numbers of boys and girls e
- + There are two fewer boys than gils in
= A difference of 2 out of the bigger total in both, but 9A is bigger
9A s less than out of the smaller total in 9B
2

" w<%
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Tir & Question

Which pupil? (cont)

Correct response

Shows a correct justification but makes an
incorrect or no decision
e

5l

3
" gy =046, 32204650
3 =0 46 50 equal

or

Shows a correct justification with not more than
ane computational error then makes the correct
decision for their values
%

e

(error), 9B indicated

‘Additional guidance
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oo e Heads or tails
mmE |
[26[17] Correct response. Additional guidance
31 0r 32 ot both t For 2m or 1m, value(s) qualified
e, for 2m
+ About 31
Condone

Shows or implies a correct method with not more
than one computational error, even if their final
value is not a whole number

Y
= 3125 or 31.5 or equivalents seen
- 1000422424242
= 500,250, 175 (error), §7.5, 43.75

t For m, value(s) rounded or truncated
Condone correct rounding o truncation at
any stage within a correct method
eg. for 1m accept

+ 500,250, 175 (error), 88, 44
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Tier & Queston

Counters in a bag
EmE|

24[15[ 5 Correct response Additional guidance

2m | Completes the sentence correctly with three
positive integers 7, w then y, such that
randy < r

Im| Completes the sentence with three integers x For Im, values for r or w negative or zero
7, w then y, such that w = 2r and y = 0 e
e * -1,-2 then 0
= 2,4then0 *0,0then 0
= 3 6then0

Completes the sentence with three values
r, w then y between zero and one, such that

randrawsy=
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T Quenion
Shape cards
EmE |
| 22| Correct response Additional guidance
a2m| 3% or cquivalent probabiliy
or
tm ] Shows the values § and § or equivalent
probabilities
Gives the answer - or equivalent probability
fie the only error s to assume the firs card is
replaced]
bf1m ,‘—ﬂ or equivalent probability 1 Followthrough
Accept 2 x their (a) provided this gives a
value greater than 0 and lessthan |
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T-shirts.
Mark Correct response

Additionsl guidance

T [

m Gor equivalent probabilty | Value rounded
Accapt 046 o 067 o th parcatage
equnslents

m  Jor equialent probabilty 1 Value rounded

Accept03..) or the percentage equivalent
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Five bags

‘Additional guidance
2m  Matches allfour bags to the correct 1 For 2m or 1m, bag matched to more than
probabiltes,ie ‘one probability

1m Matches two of the four bags to the correct
probabilties
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[rer s cuesr]

Winning ticket

Correct response

‘Additional guidance

Am | Gives a correct probability 1 Answer of 0.3(0) or 30%
a ooy rovded s coretmerhod o o
.
i
s * ncomet method
« 0306 o
s " csloursso
1| e  cormect proabiy '+ Follow trouh
b Accept follow through from an incorrect
& ol aumber of tkissen 8 pat )
Provided thi ol o 3o 100
e fom 3. for parta, acepe
> e
e
[ —
Neept 0.0 o 00121 o the eqivalen
povenge, providd e cres mechod
n [ T——

Accepr 0.33 or betse,or the equivalent
percentages
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H.

2m
m

Correctresponse
Jor equivalent probabilty

Shows ar imlies the number of possible autcomes
where the product is 2 multiple of 3

g

& # 3 5 6
£ I P N
P T T N
& 15 20 25 30
P T T B Y

= 3 4 5 6
3 [ v v v
4 v v
5 v v
6 [ 4 L4 v v

© 3x3,3x4,3x53x6,
4x3,4x6,
5x3,5x6,
6%3,6%4,6x56x6

Shows a complete correct method but makes not
more than two errors i identifying multiples of 3,
then follows through to give their correct probabilty

~ 13 [+[sTs
El I PR R )
4 2 e |2 |u

5 [ s 0

Dice probability
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s Five bags
Mark Correct respanse Additional guidance
2m  Matches al four bags to the coreet 1 For 2m or 1m, bag matched to more than
probabil one probabilty
Donot acceptas a corect match
™
or
m  Matches two of the four bags to the corect
probabilties
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T -

Im  Completes the first two sentences corectl,ie
o

Im  Completes the last sentence corectly ie
red and yellow, in either order

Counters
‘Additional guidance
V' Unambiguous indication
1 Numbers given alongside correct colour
Ignore
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Dice probability
Cortactrasponse Additional guidance

$ or aquivalent probabilty v 0.83(..) or better

Jor equivalent probabity
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s
I Iu-iw-w—

III m Cwmhhwmmuﬂ’:.h

I Completes the last sentence comectl,ie
red and yellow, in sither order

Additional guidance
' Unambiguous indication

1 Numbers given slongside correct colour
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T s e

frpves
Mark
l m

m

®

Corroct response.
% or equivalent probability

Gives both correct probabiltes in their corract
positions, e

Jor oquivlent probabity

s or equivalent probability
Gives one corret probabilty n s corret posiion
3,4,5,6in any order

Additional guidance
¥ 0.027(..) or better
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T uonton

35 4657 Ten cards
Mark Corroct response Additional guidance
I m § or aquivalent probabilty
m  § or equivalent probabilty t Probabilites for parts (a) and (b) transposed
but otherwise correct
Mark s 0,1
1 Volue rounded

[
equivalents
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T st

Dice probability
Correct response Additional guidance

3 or equivalent probability ¥ 083(...) or better
$ or equivalent probability
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States orimplies that the probabities for A and C
are § and that the probabiliy for B is different or
unknown

o

* Dice A: The probability s }
Dice B: You would need 1o do an experiment
Dice C: It the same as A

* Dice A: It looks like probability is § assuming they
are fai dice
Dice B: | would guess that the probabilty is more
Dice C:It's Jif itis fair

States or implies that the probabilties for A and C.
‘are § and does not comment on Dice B

9

* Dice A: The probabilityis}
Dice B:
Dice C: s the same as A

States or implies that the probabilities for A and C
are the same and the probabilty for B is dfferent o
unknown
o
© Dice A: The probabiltyis the same as C

Dice B: You can't be sure

Dice C: s the same as A

Dice
Additional guidance
¥ Explanations do not refer to ‘probability”
g sccept
* DiceA}
Dice B: Don'tknow
DiceC:}
' Probabilty for B quantified
Condone

o3 accopt
* Do}

Dice B: y
Dice C:}

X Probability incorrectly expressed
Do not accept for 2m

1 Probability incorrectly expressed
For 1m condone provided equalty is implied
g accept
© Dice A The probabilty s 1in 6.
Dice B: You can't be sure
Dice C: It's the same as A

1 Likelivood expressed in words
For 1m, accept as implying equality
g, accapt
* Dice A s unlikely

Dic B: Likely
Dica C: s unlikely
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" V' Minimally acceptable explanation
S
* Halfof 12is6
* 7is over half way
® It's over half
* 7ismore than half
* Six out of 12 is half, and this is more .  chance
« Glshalof 12and7>6 e
* The probability of losing i therefore he is more. 756
ikely to win . 755
OF * Losingis 5
e
% Incomplete or incorrect explanation
e
bt more oy towin
“The number at the top is lower than at the
bottom
7is 5 away from 12
Tiadosmto 13
i
He has more than half % probability to win
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Coins

Correct response ‘Additional guidance

1| Gives 2 correct explanasion / Minimally acceptable explanation
o«
+ Two outof four
+ Two s halfof four
+ Two are tens, o not

x Incomplete explanation
B
* Ik S0s50
+ There are two e
+ There are two 10ps
* Half the coins are 10ps

< 20pind s0is
Wpin L s0is1p

entifies the valuesof the four coinsax 1 Values o cons identfed but dovibe
' expressed as 1o whetber this i the ony

20,10,2 a0 1 andgvs the probabily 1 or | 5l o ket

cquvalnt probabity Condane

x Probabilty stated without values of coins
identified





image47.jpg
A7
HA..

2m
or
m

Indicates Both equal ikely and gives a corect
explanation

o9
 Annahas 20p, 10p
Her probability is }
Tom has 10p, 10, 5, 5p
His probability s § =
+ Tom has two 10p coins and two other coins
Anna has one 10 coin and one other
Both have a half chance of choosing a 10p coin
 For Tom the raio of 10p coins to other coins
2:2=1:1
For Anna the ratio s also 1: 1
 For Tom, the atio of total coins to 10p coins.
a:2
For Anna, the ratio o total coins to 10p coins
201
4:2-2:1

Incorrect or no box ticked but gives a correct
‘explanation

For both Tom and Anna, gives the corect coins.

g
* Anna has 20p, 10p
Tomhas 105, 10p, 5, 5p

or

For Anna or for Tom, gives the correct probability
‘and the correct number of 10p coins.

g

* Tom10,10,5,5

+ Tom has 2 x 10 coins and 2 other coins
Half chance
+ Anna has one 10p coin and 1 other coin
Probability= 05
or
Gives the cormect probabilty o the correct ratio of
10p coins to other coins and indicates that this
applies to both Tom and Anna

9

 Both have a haf chance of hoosing 10 coin

+ The ratio of 10p coins to ather coinsis 1 : 1 (with
“both aquallylikey' ticked)

Coins and probability
‘Additional guidance

¥ Minimally acceptable explanation

og
 20,10and10,10,5,5
1in2,20utof4
(condone notation given context)
© Tom2x10p
Anna 1 x 10p

i

o Tom =2:2
Anna =1
« He
She.

X For 2m, incomplete or incorrect explanation
og.
« Bothhalf
« Shehas 20and 10
He has 10, 10, 20 (error, 5
Both half

' Minimally acceptable explanation
g
* Anna = 20,10
Tom=10,10,5,5

' Minimally accoptable explanation

o

 Tomhas2x10p
Half

« Anna has one 10p
os

' Minimally accoptable explanation

o
« Half (with both equally likely ticked)
« Both1:1
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T umen
B e
Mark Correct response Additional guidance

-- m c e e s pioims
m e {forpart @) and § forpart &)
Markas0,1
Gl e + The only sectors labelled are 2
e

GRS
B D
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Gm-wr-ﬂm

.0®

. 7%

Gives the values 8, 8 and 10 in the correct order
26 s0en

or

‘Shows or implies + 13

o

. 100413

o +13seen
* Answer 32,32,40

Word game
‘Additional guidance

1 Probabiity
See general guidance on page 16

1 8so0n
Do not accept for 1m unless + 131is implied

X 13 seen without the operation
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[ & question| sl
el Winning ticket
168 Correct response Additional guidance
alal1m| Gives a correct probability 1 Anstwer of 0.3(0) or 30%
o Accept provided a correct method or a
75
- more accurate value s scen
%5
5
]  Incorrect method
- 0.306(.) g g
e + 3coloursso &
b b 1m| Gives a correct probability ! Follow through
o Accep follow through from an incorrect
. 225 total number of tickets scen in part (a),
provided their total is not 3 or 100
75
eg, from 7 for part (a), accept
L3
™
! Decimal or percentage value
Accept 0.01 or 0.012/...), or the equivalent
percentages, provided no incorrect method
cleim %nr:qun‘zlempmhzhlhry ! Decimal or percentage value
Accept 0.33 or better, or the equivalent
percentages
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[Ter & Question|

sl Computer game
17| Correct response ‘Additional guidance
a|im| Indicates W, L, L / Unambiguous indication
«
©1,0,0
b|im| 45 ! Qualifier used
E
+ Abour 45

Accepr, even though the exact value can be
determined from the information given

€| 1m| 0.6( 0.02) or equivalent probability  Qualifier used
8
+ About 60%

d| 1m| Joins (100, 0.6) to (120, 0.5) using a curve ! Point (120, 0.5) not accurately marked
‘with negative but increasing gradient, or by Accept if on line x = 120 and within 1mm
marking and joining any number of individual of correct height
points on such a curve
e ! Part(s) of curve with incorrect gradient
L Condone use of a straight line, ruled or

However do not accept other incorrect

gradients

<8
(decreasing gradient)

(gradient stops inreasing)

(gradient positive m parts)





image5.jpg
e+ quesion
sfeels1[e Plasters
5[10(3 Correct response Additional guidance
afafal |1m]| & 1 Answer given as a decimal or a percentage
without a correct fraction shown
Accept decimals within the following ranges,
or their percentage equivalents:
part (a) 0.028 1o 0.03 inclusive
part (b) 0.45 to 046 inclusive
part(c) 0.54 10 0.55 inclusive
1 Words given alongside a correct probability
1 i
blb m| 12 gnore
35 eg, for part (a) ace
1
Unlikely, 3
©
c|e I
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Two dice

Correct response

Gives the value ; or equivalent probability,

and gives a correct justification

The most common correct justifications:

Use a systematic approach to illustrate all
outcomes, cither numerically or as even or odd
L

Use separate probabilites for each dice which
are then multiplied

= 1 dice all even so probability s 1, 2 dice
two even so probability is 0.5, 1 x 0.5

Reason generally
&
= You are always adding an even from one
dice. Half the time you add to another even
which gives an even, half the time you add
t0 an 0dd which gives an odd

Gives a correct probability without sufficient
justification or with a non-systematic approach

Uses a systematic approach to show at least 12
corect outcomes with not more than one
incorrect, even if an incorrect or no probability
is given.

Additional guidance

/ Minimally acceptable justfication
-1
)
*342,344,346,34+48
542,5+44,546,5+8
(0dd outcomes only)
*2,2 2,4 2,6 2,8
4,2 4.4 4.6 4,8
(even outcomes only implied)

! Reversals included to give 32 outcomes
Accept as a correct method

/ Minimally acceptable justification
s
* Using the 3 gives 4 odd numbers
Using the 5 gives 4 odd numbers,
and the other 8 must be even
* Even + even = even, even + odd = 0dd
same amount of each





